Money Problems

II How many... I

a | 1p coins make 40p? d | 10p coins make £2.00?
b | 2p coins make 50p? e | 20p coins make £5.00?
C | 5p coins make 80p? f | 50p coins make £10?

E Solve these problems. Write the answer in words. I

a

By how much is 29p more than 14p?

b

Work out half of £30 and add £4.00 to your answer.

Find the total value of each set of coins.
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II Work out the least number of coins you could use to pay for an item costing... I

a.

25p c |67p e | 60p g 43p i

b

14p d |94p f | 99p h|37p j
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